
𝑃: 𝐼𝑛𝑑𝑖𝑐𝑎𝑡𝑒𝑑 𝑎 𝑙𝑖𝑒
𝑁: 𝐼𝑛𝑑𝑖𝑐𝑎𝑡𝑒𝑑 𝑑𝑖𝑑 𝑛𝑜𝑡 𝑙𝑖𝑒
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𝑃(𝐿 ∩ 𝑃) = 0.42
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Given the subject  
lied there is a 0.808 
probability of getting 
a positive test result
   A correct result

Given the subject 
tested positive there 
is a 0.7 probability 
that they lied.
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Test is After!
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False Negative

A correct Result
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Probability select 2 liars in a row.                           𝐿: 𝐿𝑖𝑒𝑑  𝐿ത: 𝐷𝑖𝑑 𝑁𝑜𝑡 𝐿𝑖𝑒  𝑇𝑜𝑡𝑎𝑙
𝑃: 𝑃𝑜𝑠𝑖𝑡𝑖𝑣𝑒          42                18                 60
𝑁: 𝑁𝑒𝑔𝑎𝑡𝑖𝑣𝑒       10                 30                40
      𝑇𝑜𝑡𝑎𝑙               52                48               100
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